

ELEMENTARY PROBLEMS AND SOLUTIONS

Edited by A. P. HILLMAN, University of New Mexico, Albuquerque, New Mex.

Send all communications regarding Elementary Problems and Solutions to Professor A. P. Hillman, Department of Mathematics and Statistics, University of New Mexico, Albuquerque, New Mexico 87106. Each problem or solution should be submitted in legible form, preferably typed in double spacing, on a separate sheet or sheets in the format used below. Solutions should be received within three months of the publication date.

B-100 Proposed by J.A.H. Hunter, Toronto, Canada.

Let $u_{n+2} = u_{n+1} + u_n - 1$, with $u_1 = 1$ and $u_2 = 3$. Find the general solution for u_n .

B-101 Proposed by Thomas P. Dence, Bowling Green State Univ., Bowling Green, Ohio.

Let $x_{i,n}$ be defined by $x_{1,n} = 1$, $x_{2,n} = n$, and $x_{i+2,n} = x_{i+1,n} + x_{i,n}$. Express $x_{i,n}$ as a function of F_n and n .

B-102 Proposed by Gerald L. Alexanderson, University of Santa Clara, Santa Clara, Calif.

The Pell sequence $1, 2, 5, 12, 29, \dots$ is defined by $P_1 = 1$, $P_2 = 2$ and $P_{n+2} = 2P_{n+1} + P_n$. Let $(P_{n+1} + iP_n)^2 = x_n + iy_n$, with x_n and y_n real and let $z_n = |x_n + iy_n|$. Prove that the numbers x_n , y_n , and z_n are the lengths of the sides of a right triangle and that x_n and y_n are consecutive integers for every positive integer n . Are there any other positive integral solutions of $x^2 + (x \pm 1)^2 = z^2$ than $(x, z) = (x_n, z_n)$?

B-103 Proposed by Douglas Lind, University of Virginia, Charlottesville, Va.

Let

$$a_n = \sum_{d|n} F_d \quad (n \geq 1),$$

where the sum is over all divisors d of n . Prove that $\{a_n\}$ is a strictly increasing sequence. Also show that

$$\sum_{n=1}^{\infty} \frac{F_n x^n}{1-x^n} = \sum_{n=1}^{\infty} a_n x^n .$$

B-104 Proposed by H. H. Ferns, Victoria, British Columbia.

Show that

$$\sum_{n=1}^{\infty} \frac{F_{2n+1}}{L_n L_{n+1} L_{n+2}} = \frac{1}{3} ,$$

where F_n and L_n are the n^{th} Fibonacci and n^{th} Lucas numbers, respectively.

B-105 Proposed by Phil Mana, Univ. of New Mexico, Albuquerque, New Mex.

Let g_n be the number of finite sequences c_1, c_2, \dots, c_n with $c_1 = 1$, each c_i in $\{0, 1\}$, (c_i, c_{i+1}) never $(0, 0)$, and (c_i, c_{i+1}, c_{i+2}) never $(0, 1, 0)$. Prove that for every integer $s > 1$ there is an integer t with $t \leq s^3 - 3$ and g_t an integral multiple of s .

SOLUTIONS

AN INTEGER VALUED FUNCTION

B-82 Proposed by Nanci Smith, Univ. of New Mexico, Albuquerque, New Mex.

Describe a function $g(n)$ having the table:

n	0	1	2	3	4	5	6	7	8	9	10	11	12	...
$g(n)$	0	1	1	2	1	2	2	3	1	2	2	3	2	...

Solution by the Proposer.

The function $g(n)$ is the number of one's (i. e., sum of the "digits") in the binary representation of n .

Also solved by Joseph D.E. Konhauser and Jeremy C. Pond.

A RECURSION RELATION FOR SQUARES

B-83 Proposed by M.N.S. Swamy, Nova Scotia Technical College, Halifax, Canada.

$$\text{Show that } F_n^2 + F_{n+4}^2 = F_{n+1}^2 + F_{n+3}^2 + 4F_{n+2}^2 .$$

Solution by James E. Desmond, Fort Lauderdale, Florida.

From Basin and Hoggatt ("A Primer on the Fibonacci Sequence—Part I," Fibonacci Quarterly, Vol. 1, No. 1, p. 66) we have that $F_{n+1}^2 + F_n^2 = F_{2n+1}$ and $F_{n+1}^2 - F_{n-1}^2 = F_{2n}$. So,

$$\begin{aligned} & F_n^2 + F_{n+4}^2 - F_{n+1}^2 - F_{n+3}^2 - 4F_{n+2}^2 \\ &= -(F_{n+2}^2 - F_n^2) + (F_{n+4}^2 - F_{n+2}^2) - (F_{n+2}^2 + F_{n+1}^2) - (F_{n+3}^2 + F_{n+2}^2) \\ &= -F_{2(n+1)} + F_{2(n+3)} - F_{2(n+1)+1} - F_{2(n+2)+1} \\ &= -F_{2n+2} + F_{2n+6} - F_{2n+3} - F_{2n+5} \\ &= F_{2n+4} - F_{2n+4} \\ &= 0 . \end{aligned}$$

Also solved by Anne E. Bentley, Clyde A. Bridger, Thomas P. Dence, Joseph D.E. Konhauser, Karen S. Laskowski, Douglas Lind, Pat Miller, John W. Milsom, F.D. Parker, Jeremy C. Pond, Toni Ann Viggiani, Howard L. Walton, David Zeitlin, and the proposer.

TERM-BY-TERM SUMS

B-84 Proposed by M.N.S. Swamy, Nova Scotia Technical College, Halifax, Canada.

The Fibonacci polynomials are defined by $f_1(x) = 1$, $f_2(x) = x$, $f_{n+1}(x) = xf_n(x) + F_{n-1}(x)$, $n > 1$. If $z_r = f_r(x) + f_r(y)$, show that z_r satisfies

$$z_{n+4} - (x+y)z_{n+3} + (xy-2)z_{n+2} + (x+y)z_n = 0.$$

Solution by David Zeitlin, Minneapolis, Minn.

In B-65 (see Vol. 3, No. 4, 1965, p. 325), it was shown that if u_n and v_n are sequences which satisfy $u_{n+2} + au_{n+1} + bu_n = 0$ and $v_{n+2} + cv_{n+1} + dv_n = 0$, where a, b, c and d are constants, then $z_n = u_n + v_n$ satisfies $z_{n+4} + pz_{n+3} + qz_{n+2} + rz_{n+1} + sz_n = 0$, where $(E^2 + aE + b)(E^2 + cE + d) \equiv E^4 + pE^3 + qE^2 + rE + s$. Since $p = a + c$, $q = ac + b + d$, $r = bc + ad$, and $s = bd$, the desired result is obtained by setting $a = -x$, $b = -1$, $c = -y$, and $d = -1$.

Also solved by Clyde A. Bridger, James E. Desmond, Joseph D.E. Konhauser, Karen S. Laskowski, Douglas Lind, John W. Milsom, Jeremy C. Pond, Howard L. Walton, and the proposer.

SUMS OF SQUARES

B-85 **Proposed by Douglas Lind, University of Virginia, Charlottesville, Va.**

Find compact expressions for:

$$\begin{aligned} \text{(a)} \quad & F_2^2 + F_4^2 + F_6^2 + \dots + F_{2n}^2 \\ \text{(b)} \quad & F_1^2 + F_3^2 + F_5^2 + \dots + F_{2n-1}^2 \end{aligned}$$

Solution by David Zeitlin, Minneapolis, Minn.

Using mathematical induction, one may show that for $m = 0, 1, \dots$,

$$5 \sum_{k=0}^n F_{2k+m}^2 = F_{4n+2m+2} + 2n(-1)^{m+1} + 6F_m^2 - F_{m+2}^2$$

Thus, for $m = 0$ and $m = 1$, we obtain, respectively,

$$\text{(a)} \quad \sum_{k=0}^n F_{2k}^2 = (F_{4n+2} - 2n - 1)/5,$$

$$(b) \quad \sum_{k=0}^{n-1} F_{2k+1}^2 = (F_{4n} + 2n)/5$$

Also solved by Joseph D.E. Konhauser, Jeremy C. Pond, Clyde Bridger, James E. Desmond, M.N.S. Swamy, and the Proposer.

RECURSION FOR CUBES

B-86 Proposed by V. E. Hoggatt, Jr., San Jose State College, San Jose, Calif.

(Corrected version.) Show that the squares of every third Fibonacci number satisfy

$$y_{n+3} - 17y_{n+2} - 17y_{n+1} + y_n = 0 .$$

Solution by David Zeitlin, Minneapolis, Minn.

Since $F_{3n+m}^2 = C_1 a^{6n} + C_2 b^{6n} + C_3 (-1)^n$, $m, n = 0, 1, \dots$, where a and b are roots of $x^2 - x - 1 = 0$, the difference equation, noting that $a^6 + b^6 = L_6 = 18$ is

$$\begin{aligned} (E + 1)(E - a^6)(E - b^6)y_n & \\ & \equiv (E + 1)(E^2 - 18E + 1)y_n \\ & \equiv (E^3 - 17E^2 - 17E + 1)y_n \\ & \equiv y_{n+3} - 17y_{n+2} - 17y_{n+1} + y_n = 0 . \end{aligned}$$

Also solved by James E. Desmond, Joseph D.E. Konhauser, Douglas Lind, Jeremy C. Pond, C. B.A. Peck, and the proposer.

A SPECIAL CASE OF AN IDENTITY

B-87 Proposed by A.P. Hillman, University of New Mexico, Albuquerque, New Mex.

Prove the identity in x_0, x_1, \dots, x_n :

$$\sum_{k=0}^n \left[\frac{(-1)^{n-k}}{k! (n-k)!} \prod_{j=0}^n (x_j + k) \right] = \binom{n+1}{2} + \sum_{j=0}^n x_j .$$

Solution by the Proposer.

If the difference equation (1) , of "Generalized Binomial Coefficients," by Roseanna F. Torretto and J. Allen Fuchs, Fibonacci Quarterly, Vol. 2, No. 4, Dec. 1964, pp. 296-302, is chosen to be $y_{n+2} - 2y_{n+1} + y_n = 0$, then U_n becomes n , $\begin{bmatrix} m \\ j \end{bmatrix}$ becomes the binomial coefficient $\binom{m}{j}$, and the identity of this problem results from formula (5) of that paper upon division of both sides by $n!$.

Also solved by Joseph D.E. Konhauser, Douglas Lind, and David Zeitlin.

NOTICE TO ALL SUBSCRIBERS!!!

Please notify the Managing Editor AT ONCE of any address change. The Post Office Department, rather than forwarding magazines mailed third class, sends them directly to the dead-letter office. Unless the addressee specifically requests the Fibonacci Quarterly to be forwarded at first class rates to the new address, he will not receive it. (This will usually cost about 30 cents for first-class postage.) If possible, please notify us AT LEAST THREE WEEKS PRIOR to publication dates: February 15, April 15, October 15, and December 15.
